Fe3EAFRH R #ER

1"
&R =B BB E=4L
INE BJHRDOR = BF He FHE =A K—
INE RHDOED BA & F XK Bk R
INg FHDOE #}BAR BX & #Emk 5B BEX
INE FREDED He BRIE Rk 2 Rt @E
FE H-FEOE IMNE E BA $12
FE F-REOH AiEE E Rk W € &R
¥ HEOH Bl B/R HLE BF F& %A
BEBF #H-ZEOH AZE B B FSY FEE
BREBF F-FEDE E) RK I E)Il ZX
BRESF FEOE Bk ¥ #®BAR EHEX £ B
BREXF H-xmDER LE BHS ZFHE EB BH B
BREZF F-FEDE =aE fE Al EFE YEED £
REZF HEOER F5 Y K BIE R WE
RT3 BFHBDE O BE FH %% BEE T
RTSUBFHEDE TR ¥ A FH B
EOVES
B =B R B B4
INEBF 1254 Tk =A FER X AiFE BX
INERF 3-44F 4 -30kg B/mR EX 2% BE HH #HIE
INEB T 3-4F 4 +30kg NE& RERK B & L
INFEBF 5-65F4£-35kg Tk £ — /% B Bk R
INERF 5-64E 4 +35kg B BZE kg LT =KA 5B REX
FEBEF -5ikg Bl ER HL 8= EM EE
hFEBEF +51kg =H EA Rk W =ZA §18
INBLTF 1284 A5 Lk =i
INERF 3445 -30kg a8H HE =2E ¥4
INPLF 34 A +30kg =H ik SE fkE it @x
INELZF 5-6F 4 +35ke Mo BRIE F XK
R FNE F8 %A IR E
BREZFH R -5Sike YEER £ FHE EBR LA B4
BRELZFHM +51ke BH E TF EH BE B
BREBFHHR —64ke RIS Ff rSY FEE Al Bt
REBFEHR +64kg = fEnf ME = op S =
BEBFHEDER ®BAR BEX £ EH
RTSVBFEHR 40~49F D INR KB FHith Rt BEH T
RTSUBFHE 40~49FDE BEA HE FEH RIZH R a4t
TSV BFHE 50~59:F% DA w OEt# A FE




